kTR RE FKE 02

%%ﬁ—%ﬁ?ﬁ@A%ﬁ#%ﬁ%b,iﬁ@B%ﬁiTﬁ@LT%oT%tJkﬁﬁ#6Bﬁﬁi
TOFEMEZ 11.2km T, 71X 2R 48 47, IR D 1 2 RERi D2 o 2. ROBNICE Z
(SH15740%, Afh2% mﬂ‘3ﬁ4 L, CH69)

(1) FKREOREE & i OH S 132 N2 AR ki 723K X

(2)  BLMNDOEX 25122 &, AHiSD S B HIS T CMEEREIM 53072 % 7.
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2. BHEZR—IXTHOAHSLSHEFEL, iﬁ@Bﬁﬁifﬁ@Lf%of%i_A%ﬁ#%B%ﬁi
TOMHHEX 12.8km T, 17X 4R, IR DX 3R 12 9o 72, ROBNITE R
(SH15740%, Afk2%5 m?‘3m4ﬁ CHe677)

(1) FKRFOEZ & iADHE S 13Z N2 AR ki 723K XK.

(2) BLMNDHEX D 3MEIC 3 2, BHAD S A HiS T CEEREIM 53272 % 2.
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R§IFR L ES FUKE 02 BRARS

HBER—IDRTFROAMEALSHFEL, LD B iﬂzﬁifmﬁbﬂ%ofﬂet AMiEh o BHIS %
TOFEMEZ 11.2km T, 71X 2R 48 47, IR D 1 2 RERi D2 o 2. ROBNICE Z
(SH15740%, A2 50, B-f-&4 L, CH69)

(1) FKREOREE & i OH S 132 N2 AR ki 723K X

* RS => X

b A—B Th B—A
X 7 km /i A T /I 7 =11.2km + 224 1 = 4km/h
IRFFE || 2 IREfH 48 9 = Q%H?IFBEJ 2 IR - 4 = 11.2km = 2151) = 5.6km/h
PR AB R 11.2km AB [ 11.2km

* FKkE > FIOEIK

. i,
T akm/heT *HKOEE = (Fb + Eb) =2

K i = (5.6 +4) =2 =4.8km/h
ggﬁﬂl *RNOME = (Fh — Eb) =2

R 5 6km/h = (5.6 —4) = 2=0.8km/h

(2)  BHLIMNOES D 2512725 &, AHigD & Bl F TR0 % 20

EYoEXIE 48-0.8x2=32km/h
£oT, 112km-=32km/h=35h= 3K 30%
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2.

HBER—IDTFROAMEALSHFEL, ERO BHSFTHEL Thio “C?EK AMIgE S BHISE

TOMHHEX 12.8km T, 17X 4R, IR DX 3R 12 9o 72, ROBNITE R

(SHe177408, AM297 508, Brﬁ&4§3 CHe677)

(1) FKRFOEZ & iADHE S 13Z N2 AR ki 723K XK.

* EE > K
kb A—B Th B—A
WX 7 km /IKf A km /W 7 =128km +4h =3.2km/h
R AWM | 3RER 1297 — 3 M 7 4 —128km= 3+ h = dkm/h
FEAE || AB [ 12.8km AB [ 12.8 km
* FKE = EIDEDE
EY e I‘?ﬁﬂ‘i .
3. 2km/h’ | *HKOHEE = (FH + L0)+
ik i (4+32)—2—36km/h
g KN OEE = (Th — kb)) =+
b} |
IO b PRy ——— =(4— 32)—2—04km/h

(2) BHLIMNOES DI 3512725 &, B 5 A M F TR 770202 2 20

Tho#EEIE 3.6+04 x3=4.8km/h

X5T, 12.8km = 4.8km/h= Q%h — 2 BERT 40 9
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